FUBAG MOTOTOMITA PTH400H (838244)







HOMEp

n/n/ Koz HaUMEHOBAaHUE KOJI-BO
1 45147-W07001-000 KpBIIIKa BOASHOTO Hacoca 1
2 90103-0860-09 Gor M8x60 GB5787 4
3 90409-W02001-000 maiba miockast almfoOMUHUEBAs 4
4 45146-W07001-000 YIUIOTHEHHE MEXaHUYECKOe (KepaMuKa) 1
S 45119-W07001-000 nraifba yraoTHUTEIbHAS 1
6 45102-W07001-000 nMnesIep 1
’ 45103-W07001-000 CIMpanb 1
8 45104-W07001-000 maiiba yrniaoTHUTENbHAS CIIMpaln 1
9 19201-W07001-000 KOPITYC BOISHOTO HACOCA 1
10 45109-W07001-000 npokazKa 1
1 45108-W07001-000 Boz0CpoC 1
12 45109-W07002-000 nraitba yniaotHuTenbHas 1.5" cThIK TpyO 2
13 45111-W07002-000 CTBIK TPYO 1.5" 2
14 45112-W07002-000 raiika 1.5" cTeika TpyO 2
15 45145-W07002-000 saxkum 1.5" 2
16 90103-0880-09 Gonr M8x80 GB5787 4
17 45107-W07001-000 KpBIIIKa 2
18 45122-W07001-000 nraifda yrnioTHUTENbHAS 2
19 maiba yrjaoTHUTENbHAs 2" coequHeHne 2

45109-W07003-000 Tpy6
20 45137-W07001-000 coetuHeHme TPy6 2" 1
21 45137-W07002-000 coenuHenue 1.5" 2
22 90409-W02001-000 maiida 2
23 90103-0832-09 Gonr M8x32 GB5787 6
24 45111-W07001-000 TpyGa nozBona Boe: 2" 2
25 45112-W07001-000 raiika 2" coeJMHEHUS BITyCKHOM TPYyOBbI 1
26 45145-W07001-000 sakim 2" 2
27 90103-0860-07 Gonr M8x35 GB5787 6
28 90602-0800-39 raiika M8 6
29 45115-W07001-000 nraifba yraoTHUTEIbHAS 1
30 45116-W07001-000 Bo103260p 1
31 45114-W07001-000 KpbimiKa QuIBTpa 1
32 41100-W03006-BO1 pava 1
33 90103-0612-09 601TM6*12 4




34

41017-G02001-000

HOXXKa pE3nHOBas

35

GX160-0003-E001

nsurareiasb GX160




